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4. For the system of Figure 4,
(1) Find the closed-loop transfer function, T(s)=C(s)/R(8).(10%)
(2) Calculate the sensitivity of the closed-loop transfer function to changes in the
parameter p.(5%)
(3) How would you reduce the sensitivity of the closed-loop transfer function to
changes in the parameter p? (5%)
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5. Given the unity feedback system of Figure 5, find the values of K and n to yield
a steady-state error of 0.1 for a ramp input of 5tu(t). The function u(t) is the unit
step. (15%)
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6. Given the closed-loop system of Figure 6 with the forward-path transfer
10
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and phase plots. (15%)

function G(s)= . Draw the Bode plots including both log-magnitude
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Figure 6
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